Bed Guide ID: 15 - Draft: 2016-12-16

smartfriendz
Bed

This document was generated on 2021-12-26 07:45:07 AM (MST).

© 2021 smartfriendz.dozuki.com/ Page 1 of 8



Bed Guide ID: 15 - Draft: 2016-12-16

PARTS:

m4x12 (12)
m4 nut (8)

This document was generated on 2021-12-26 07:45:07 AM (MST).
© 2021 smartfriendz.dozuki.com/ Page 2 of 8


file:///Item/m4x12
file:///Item/m4_nut

Bed Guide ID: 15 - Draft: 2016-12-16

Step 1 — Bed

e EN:
e prepare all material.
e FR:

e Preparer le materiel comme sur la
photo

Step 2

e EN:

e Insert linear bearing this way. View
from top

e FR:

e Inserer les guides linéaires come
cei. Vue de dessus

This document was generated on 2021-12-26 07:45:07 AM (MST).
© 2021 smartfriendz.dozuki.com/ Page 3 of 8



Bed Guide ID: 15 - Draft: 2016-12-16

e EN:

o Insert 4 M4x12 screw and block with
4 M4 nuts

e FR:

e Inserer 4 M4x12 et serrer avec 4
écrous freins M4

Step 4

e Insert wisdom here.

This document was generated on 2021-12-26 07:45:07 AM (MST).
© 2021 smartfriendz.dozuki.com/ Page 4 of 8



Bed Guide ID: 15 - Draft: 2016-12-16

Step 5

@ Insert wisdom here.

Step 6

@ screw nut inserted from bottom

This document was generated on 2021-12-26 07:45:07 AM (MST).
© 2021 smartfriendz.dozuki.com/ Page 5 of 8



Bed Guide ID: 15 - Draft: 2016-12-16

Step 7

@ Insert wisdom here.

Step 8

e Insert wisdom here.

This document was generated on 2021-12-26 07:45:07 AM (MST).
© 2021 smartfriendz.dozuki.com/ Page 6 of 8



Bed Guide ID: 15 - Draft: 2016-12-16

Step 9

@ Insert wisdom here.

Step 10

@ prepare the silicon pad. be carefull
it's gluing very well

This document was generated on 2021-12-26 07:45:07 AM (MST).

© 2021 smartfriendz.dozuki.com/ Page 7 of 8



Bed

Step 11

. 4

o finished bed

This document was generated on 2021-12-26 07:45:07 AM (MST).

© 2021

smartfriendz.dozuki.com/

Guide ID: 15 - Draft: 2016-12-16

Page 8 of 8



	Bed
	Written By: serge vieillescaze

	PARTS:
	Step 1 — Bed
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8
	Step 9
	Step 10
	Step 11


